

Abdullah Altin

Radial type solutions for a class of third order equations and their iterates

Mathematica Slovaca, Vol. 49 (1999), No. 2, 183--187

Persistent URL: <http://dml.cz/dmlcz/136749>

Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 1999

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

RADIAL TYPE SOLUTIONS FOR A CLASS OF THIRD ORDER EQUATIONS AND THEIR ITERATES

ABDULLAH ALTIN

(Communicated by Michal Fečkan)

ABSTRACT. We obtain solutions of radial type for a class of linear partial differential equations with singular coefficients and of third order. We also obtain similar type of solutions for the iterated forms of the same equations. Here the essential operators include Laplacian.

1. Introduction

Many physical and engineering problems are spherically symmetric and they may be solved by using partial differential equations. Spherically symmetric solutions which depend on the radius r are important for solving this type of problem.

Several authors have studied second order partial differential equations of various types and their iterates. In [1], we obtained solutions of type r^m for a class of singular equations. The essential operators there were second order elliptic or ultra-hyperbolic. In this paper, we consider a class of linear partial differential equations with singular coefficients and of third order, and using a similar method to that given in [1] we shall obtain radial type solutions for this class of equations and their iterates.

Generally here, our equation will be of the following type

$$\left(\prod_{j=1}^p L_j^{q_j} \right) u = (L_1^{q_1} \dots L_p^{q_p}) u = 0 \quad (1.1)$$

AMS Subject Classification (1991): Primary 35A08, 35G99.

Key words: third order, iterated equation, radial type solutions.

This work has been supported by TUBITAK, The Scientific and Technical Research Council of Turkey, through the grant TBAG-834.

where p and q_1, \dots, q_p are positive integers and

$$L_j = \sum_{i=1}^n \left[\frac{\partial^2}{\partial x_i^2} + \frac{1}{x_i} \left(a_j r^2 \frac{\partial^3}{\partial x_i^3} + b_i^{(j)} \frac{\partial}{\partial x_i} \right) \right] + \frac{c_j}{r^2}. \quad (1.2)$$

The iterated operators $L_j^{q_j}$ are defined by the relations

$$L_j^{k+1}(u) = L_j [L_j^k(u)], \quad k = 1, \dots, q_j - 1.$$

In (1.2), a_j , $b_i^{(j)}$ ($i = 1, \dots, n$) and c_j are arbitrary real parameters and r is the Euclidean distance which is defined by

$$r = \left(\sum_{i=1}^n x_i^2 \right)^{1/2}. \quad (1.3)$$

Equation (1.1) includes iterated forms of some well-known classical equations such as Laplace's equation and GASPT equations. The regularity domain of solutions of radial type is a spherical domain centered at the origin in \mathbb{R}^n .

2. Radial type solutions

Let us first prove the following lemma.

LEMMA 1. *Let q_1, \dots, q_p be arbitrary positive integers. Then*

$$\left(\prod_{j=1}^p L_j^{q_j} \right) (r^m) = \left\{ \prod_{j=1}^p \prod_{k=0}^{q_j-1} \Phi_j(m - 2[Q(p) - Q(j)] - 2k) \right\} r^{m-2Q(p)} \quad (2.1)$$

where $Q(j) = q_1 + \dots + q_j$, $1 \leq j \leq p$, and $\Phi_j(m)$ is a third degree polynomial in m given by

$$\Phi_j(m) = a_j m^3 + [3(n-2)a_j + 1]m^2 + [(8-6n)a_j + n + b_j^* - 2]m + c_j \quad (2.2)$$

with

$$b_j^* = \sum_{i=1}^n b_i^{(j)}.$$

Proof. From the definitions of L_j and r , for any real parameter m , we have

$$\begin{aligned} L_j(r^m) &= [a_j m(m-2)(m-4+3n) + m(m-2) + m(n+b_j^*) + c_j] r^{m-2} \\ &= \Phi_j(m) r^{m-2}. \end{aligned} \quad (2.3)$$

Applying the operator L_j repeatedly on both sides of (2.3) we then obtain by induction that

$$L_j^q(r^m) = \left\{ \prod_{k=0}^{q-1} \Phi_j(m-2k) \right\} r^{m-2q}. \tag{2.4}$$

Now replace j and q in (2.4) by p and q_p respectively, then we have

$$L_p^{q_p}(r^m) = \left\{ \prod_{k=0}^{q_p-1} \Phi_p(m-2k) \right\} r^{m-2q_p}. \tag{2.5}$$

Applying in succession the operators

$$L_{p-1}^{q_{p-1}}, L_{p-2}^{q_{p-2}}, \dots, L_1^{q_1}$$

on both sides of (2.5), we readily obtain the formula (2.1) by induction. \square

Now consider the formula (2.1) and write the algebraic polynomial equation

$$\prod_{j=1}^p \prod_{k=0}^{q_j-1} \Phi_j(m-2[Q(p)-Q(j)]-2k) = 0 \tag{2.6}$$

which is of degree $3Q(p)$. When all $a_j \neq 0$ ($j = 1, \dots, p$), the number of roots (real or complex) of equation (2.6) is $3Q(p)$.

Using Lemma 1, we can now prove the following theorem.

THEOREM 1. *Let the algebraic polynomial equation (2.6) have distinct real roots $\gamma_1, \dots, \gamma_M$ each having multiplicity $\lambda_1, \dots, \lambda_M$, respectively, and distinct complex roots $\alpha_1 \pm i\beta_1, \dots, \alpha_N \pm i\beta_N$, each having multiplicity μ_1, \dots, μ_N , respectively. Then the solutions of type $u = r^m$ of equation (1.1) are given by the formula*

$$u = \sum_{v=1}^M \sum_{j=0}^{\lambda_v-1} A_{vj} r^{\gamma_v} (\ln r)^j + \sum_{s=1}^N \sum_{k=0}^{\mu_s-1} r^{\alpha_s} (\ln r)^k [B_{sk} \cos(\beta_s \ln r) + C_{sk} \sin(\beta_s \ln r)] \tag{2.7}$$

where A_{vj} , B_{sk} and C_{sk} are arbitrary constants.

P r o o f. By the hypothesis concerning the real and complex roots of (2.6), we have the following two factors for this algebraic equation

$$\prod_{v=1}^M (m - \gamma_v)^{\lambda_v} \quad \text{and} \quad \prod_{s=1}^N (m^2 - 2\alpha_s m + \alpha_s^2 + \beta_s^2)^{\mu_s}.$$

Therefore, (2.1) can be written as

$$\left(\prod_{j=1}^p L_j^{q_j} \right) (r^m) = \left\{ K \prod_{v=1}^M (m - \gamma_v)^{\lambda_v} \prod_{s=1}^N (m^2 - 2\alpha_s m + \alpha_s^2 + \beta_s^2)^{\mu_s} \right\} r^{m-2Q(p)} \quad (2.8)$$

where $K = \prod_{j=1}^p a_j^{q_j}$, $\lambda_v \in \{1, 2, \dots, 3Q(p)\}$, $\mu_s \in \{0, 1, \dots, Q(p)\}$ and

$\sum_{v=1}^M \lambda_v + 2 \sum_{s=1}^N \mu_s = 3Q(p)$ is the order of equation (1.1).

On the other hand, the following equalities are well known

$$\begin{aligned} \frac{\partial^\ell}{\partial m^\ell} \left(\prod_{j=1}^p L_j^{q_j} \right) (r^m) &= \left(\prod_{j=1}^p L_j^{q_j} \right) \left(\frac{\partial^\ell r^m}{\partial m^\ell} \right) \\ &= \left(\prod_{j=1}^p L_1^{q_j} \right) [r^m (\ln r)^\ell]; \quad \ell \in \mathbb{N}, \end{aligned} \quad (2.9)$$

$$r^{\alpha_s \pm i\beta_s} = r^{\alpha_s} [\cos(\beta_s \ln r) \pm i \sin(\beta_s \ln r)]. \quad (2.10)$$

Now again consider (2.8). It is obvious that the right hand side of (2.8) has the factor $(m - \gamma_v)^{\lambda_v}$ which vanishes for $m = \gamma_v$ together with its derivatives (with respect to m)

$$\frac{d^j}{dm^j} (m - \gamma_v)^{\lambda_v}; \quad j = 1, \dots, \lambda_v - 1; \quad v = 1, \dots, M.$$

Thus the function r^{γ_v} , and by (2.9), each of the functions

$$\frac{d^j}{dm^j} (r^m) \Big|_{m=\gamma_v} = r^{\gamma_v} (\ln r)^j; \quad j = 1, \dots, \lambda_v - 1; \quad v = 1, \dots, M$$

satisfy (1.1). Since this equation is linear, by the superposition principle the sum

$$\sum_{v=1}^M \sum_{j=0}^{\lambda_v-1} A_{vj} r^{\gamma_v} (\ln r)^j \quad (2.11)$$

also satisfies (1.1). Similarly, the factors of (2.8)

$$(m^2 - 2\alpha_s m + \alpha_s^2 + \beta_s^2)^{\mu_s} = [m - (\alpha_s + i\beta_s)]^{\mu_s} [m - (\alpha_s - i\beta_s)]^{\mu_s}$$

and the expressions

$$\frac{d^k}{dm^k} [m - (\alpha_s \pm i\beta_s)]^{\mu_s}; \quad k = 1, \dots, \mu_s - 1; \quad s = 1, \dots, M$$

RADIAL TYPE SOLUTIONS FOR A CLASS OF THIRD ORDER EQUATIONS

are zero for $m = \alpha_s \pm i\beta_s$. Hence by (2.9) and (2.10), for $k = 0, 1, \dots, \mu_s - 1$, $s = 1, \dots, N$, each of the functions

$$\begin{aligned} \frac{d^k}{dm^k}(r^m) \Big|_{m=\alpha_s \pm i\beta_s} &= r^{\alpha_s \pm i\beta_s} (\ln \tilde{r})^k \\ &= r^{\alpha_s} (\ln r)^k [\cos(\beta_s \ln r) \pm i \sin(\beta_s \ln r)] \end{aligned}$$

and their superposition

$$\sum_{s=1}^N \sum_{k=0}^{\mu_s-1} r^{\alpha_s} (\ln r)^k [B_{sk} \cos(\beta_s \ln r) + C_{sk} \sin(\beta_s \ln r)] \quad (2.12)$$

satisfy (1.1). Therefore, the sum of (2.11) and (2.12) gives (2.7). Thus the theorem is proved. \square

Since the solution (2.7) depends only on the radial distance r , we have called this a radial type solution.

REFERENCES

- [1] ALTIN, A. : *Solution of type r^m for a class of singular equations*, Internat. J. Math. Math. Sci. **5** (1982), 613–619.
- [2] ALTIN, A. : *Some expansion formulas for a class of singular partial differential equations*, Proc. Amer. Math. Soc. **85** (1982), 42–46.
- [3] SNEDDON, I. N. : *Elements of Partial Differential Equations*, McGraw Hill, New York, 1957.
- [4] WEINSTEIN, A. : *On a singular differential operator*, Ann. Mat. Pura Appl. (4) **49** (1960), 359–365.

Received December 27, 1996

Revised March 12, 1997

Faculty of Sciences
University of Ankara
TR-06100 Tandoğan, Ankara
TURKEY
E-mail: altin@science.ankara.edu.tr